Paper-Maker Harish Kumar

Directions (1-5): AT ST &I €AEqdS HEq HfTA 3N A= fGu e
ge&l & 3R SIS,

M&N (10)-M, N & 78 3caRk H §

M%N (25)-M, N & 22#Y gf&ior 7 §

M@N (14)-M, N & 11# 9 # §

M#N (8)-M, N o 55T 9fdae & &

S%F(13), J&K(9), E%S(11), J#M(18), M&E(20), K#N(23)

QL faig E & Heet # g N & fear 3R «gaada gt 41 87
(a) 158, giaror-giRaH

(b) V1467, 3cai-qd

(c) 2077, gfaror-qd

(d) 13#T, 3caX

(e) 38 & S art

L1Difficulty2
QTags Reasoning

Q2.7dg N & @esl & fig M &t fewm & §7?
(@) 3cc¥

(b) ecR-qa

(c) faror-gfegH

(d) 3caR-gfad

(€) 318 & FIg =gl

L1Difficulty2
QTags Reasoning

Q3.3f¢ f§g z &g | & 12 Sf&Ior # ¢ A T§g 2 & Heast A Tog S v foem o=2r 872
(a) 3cX



(b) IcaR-ufea#H
CEGIC

(d) afator

(€) 3TH & g el

L1Difficulty2
QTags Reasoning

Q4. [AFATITET ura & § IR Teh HAad &7 & Teh o1 § 3R T Hefg & faAmor
A ¢, QT a0 faspedl & @ 301 auat A S 30 THg @ Fafd 787 g2

(a) M-K

(b) N-S

(c) F-K

(d) S-K

(e) N-E

L1Difficulty2

QTags Reasoning

Q5. ¥ WG L, Mg Nh BT AE AR g EF Q@ H g ol g M iR g L &
ALY oI H gt &1 g7

(a)11m

(b) 19m

(c)v314m

(d) 18m

(€) 3T & g el

L1Difficulty2

QTags Reasoning

Directions (6-10): 1Y T =1 y@AF v rafaf@a swt w e §:
(i) A&B®T 3T A, B & 8#T giRad H g.

(i) A% B&T ¥ A, B & 5 gf@or F .

(iii) A*B&HT ¥ A, B & 6H 3cax & &

(V) A@B®H ¥ A, B & 78t q§ # &



Q6. Tfe FHIHUT ‘W&KR@S*F@T*U' T &, 1 fdg R 3R T & ALY =geTaa gt Fr
X

(a) 6v/29m

(b) 9m

(c) 6v/58m

(d) 7m

(e) 351H & FIs el
L1Difficulty2
QTags Reasoning

Q7. I FHROT ‘A@R*X&Z%Q@P' T §,dl P o HeeT H A Fr e v g2
(a) gTTa

(b) 4

(c) afgor-gias

(d) gfayor

(€) 3T & g aTel

L1Difficulty2
QTags Reasoning

Q8. A FHIRIUT ‘Z*H%J@Y%T&R*L' e &, a6 foig R 3R Z & HLF =gaadd gl F41
g7

(a) 5m

(b)v19m

(c) 4m

(d) V17m

(e) 37 & IS e

L1Difficulty1

QTags Reasoning

Q9. Ife THROT ‘Y@U*T%NEM*G&H’ T g, [faf@d g &§ ¥ IR T ARad
T ¥ UF o § 3R v wog AT wa §, Refaf@a # @ S @1 39 @eg
o efad g §?

(a) U-N



(b) M-H

(c) Y-M

(d) T-G

(e) Y-H
L1Difficulty2
QTags Reasoning

Q10. TfE THEROT T*YRB@N@F@GY%E Wed &, dl E & Toge H T T fom &r §2
(a) gTeaa

(b) 3

(c) afayor

(d) Sca-qd

(e) 5181 & IS Tgr

L1Difficulty2
QTags Reasoning

Directions (11-13): fAmfaf@a I+l F 3R W AT R 10 yoat F 3R
e,

fsig F, g A & 57 qg # §.T8ig H,7§q F & 74T gf&ior & §.79q H, &g ¢ 97
uftas & §.79q D, f§g ¢ & 1171 gfator & §.7dq D, f§g B & 174 & # §.79g G,
fdg B & 108 3ccR & 8.78g G, foig | & 34 aftasy & §.16q E, fog | & 4 3cR
" E

Q11.7dg C & @ed # &g G forer faem # 87
(a) gTaa

(b) 3cRITRTHT

(c) gTauraieasH

@9

()3T & HIg g

L1Difficulty2

QTags Reasoning

Q12. TATaf@a & & FiaT IO1 FIUT IT 82



(a)fsig D,fdg G & 12# qd # &.

(b) ig E,foig A & 4T gfaor # 2.

() g H,7dg B & 157 3cek 7@ & &.
(d) &g E, g F & 8l gfaior afas & &.
(e) T3 T §.

L1Difficulty2

QTags Reasoning

Q13.f8g H 3R f§ig B & #HEF =geTaad g 41 §72
(a) 164m

(b) VI84m

(c)176m

(d) 5v37m

(e) 351H & FIs el
L1Difficulty2

QTags Reasoning

Directions (14-15): [RFITT&d SFFRT #T eATYES eI Hifard AR A ow
I Ue&AT F 3R dIfS,

31%0T g C & 39l I AE AT & 3R 9fh. AT gfator A Terar § 3R oY It
AR AT § T ag STh.aT Tordl § 3R e Hsdar & T ag 10f.# =erar § 3R
GIeRT R ASAT &. 12167 el & a1¢ g8 &l 3 AsaT § T ag 4fh.# elar
3R 91¢ Har & TR g8 ST Terdr & R e #3ar & % a8 6fh.a Terar &
3iR D WX F&h &.

Q14.fdg C 3R D & ALY =goadA gl FAT §?
(a) 18 fr.#T
(b) 20 fh.#Y
(c) 12 fR. 7Y
(d) 10 fh. 7Y

(e) 15 for. =T
L1Difficulty2
QTags Reasoning

Q15.7dg D & weet # g ¢ forw faem # 82



(@) 3cc¥

(b) 3ccR qfRgA
(c) afeyor

(d) afetoT ga

(e) 9T
L1Difficulty2
QTags Reasoning

Solutions
Solution(1-5):

F
I 15m M
6}\\ 10m
K 20m N
1T
8m
P
S1.Ans(b)
S2.Ans(d)
S3.Ans(c)
S4.Ans(d)
S5.Ans(c)
Solution(6-10):
S6.Ans(e)
Sol.
S—7m —
w 8m
6m




S7.Ans(e)

Sol.
R 7m A
P 7m e
6m 5m
S8.Ans(d)
Sol.
T 8m R
5
m | |Z 6m
7m
Y ]
6
L
H
S9.Ans(a)
Sol.
U-—7m Y
N 8m M
5m
6m
‘ 6m
T
G - H
$10.Ans(d)
Sol.
E T
6m
Sm
7m +—8m
G—7m F Y I;J—Tm

Solutions (11-13):




A S5m F

E im
4
g 3m ] m H om C
10m 1im
17m
D
Sol.
S11. Ans(c)
S12. Ans(b)
S13. Ans(e)
Solutions (14-15):
C
8 km
D 12km 5 km
6 km
4 km
Sol. 12 km
S14. Ans(e)

$15. Ans(b)



